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*SOLUTION TRIAL EXAMS
Standard Five

_ENGLISH

Time : 1 hour 40 minutes

Fill in the blank spaces numbered 1 to 15 with the best alternatives from the choices given.

Every pupilalways 1 itwhen 2  sportsdayin 3  school. Sportsday 4

them an opportunity to___ 5 and exploit their talents. It is through sporting _ 6__ thatthe 7

sportsmen and women gotto 8  how good they are 9 certain skills. 10, sports day
enables pupilsto 11 from classroom work that 12 be dullonsome 13 . If pupils were
toremain 14 the classroom throughout the term without 15 out door activity, they would
get bored.

1. A.like B. enjoy C. want D. loves

2. IS B. its’ C.its D. its’s

3. A.our "B. his C. their D. her

4. A. allow B. gives C. provide D. show

5. A.discover B. ignore C. waste D. avoid

6. A. meetings B. breaks C. things D. activities

7. A.hopeless B. famous C. few D. alot

8. A.now B. knew C. know D. no

9. A.at B.in C. for D. with

10. A. Beside B. Then C. However D. Besides

I1. A.join B. rest C. sleep D. enjoy

12. A. should B. would C. may D. was

13. A. occasions B. occassions C. ocassions D. ocasions

14. A. at B. under C. with D.in

15. A. many B. any C. much D. some

For questions 16 to 18, choose the adverb of
frequency used in the sentence given
16. Paul seldom finishes his work on time.
A. finishes B. on time
C. seldom D. work

17. The teacher said that all the pupils who
never finish their work on time would be
punished heavily.

A. never

B. heavily
C. punished
D. would

18. Our social studies teacher told us that it rarely

rains in the desert.
A. desert
C. teacher

B. rains
D. rarely

For questions 19 to 21, choose a word that best

completes the statement given.

19. We saw a
A. troupe
C. troop

20. The

of baboons at the museum.

B. team
D. herd

cried paintully as the coffin was

being lowered into the grave.

A. spectators
C. congregation

B. mourners
D. crowd
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KISWAHILI Saa 1 Dakika 40

Jaza vilrasho vilivyoachwa wazi kwa kutumia majibu yalivo mwafaka.

Kijana 1  alikuwanabidii 2  sanakatikamasomo . 3 . Jina lake
4 Juhudi. Nyumbani 5 sana na wazazi wake;baba 6 mama yake. Kwa
sababuya 7  wake,watu 8  walimpenda sana. Kila mara, alipatiwa zawadi
9  ambazo zilimfanya 10 bidii katika masomo. Wanafunzi 11
walihimizwa 12 wote kwamba 13 kielelezo chake kizuri. Hivi sasa Juhudi
14 katika darasa la tano. Shule 15 inaitwa Twendembele.

1. A. hicho B. huyo C. huo D. hiyo
2. A. nyingi B. mwingi C. wengi D. vingi’
3. A.wake B. yake C. zake D. chake
4. A.ilikuwa B. yalikuwa C. alikuwa D. lilikuwa
5. A. alichukiwa B. alipuuzwa C. alipendwa D. aliachwa
6. A.na B.ya C.wa D. au
7. A.uovu B. wema C. ubaya D. ukaidi
8. A.zote B. yote C. sote D. wote
9. A. chachechache B. mbovumbovu C. kemkem D. mbayambaya
10. A.aongeze B. asitie C. apunguze D. asiongeze
11. A. wenziwe B. wenzetu C. wenzio D. wenzangu
12. A. wakati B. saa C. siku D. mara
13. A. wadharau B. waige C. waepuke D. wapuuze
14. A. ako B. uko C. iko D. yuko
15. A. anayosoma B. anayosomewa C. anayosomea D. anayosomeshwa
Kuanzia nambari 16 hadi 30, jibu kila swali 18. Tarakimu ipi inaonyesha elfu tisa, mia sita na
kulingana na maagizo uliyopewa. tisini?
A. 9690 B. 9660
16. Ipikati ya hizi ni alama ya kuonyesha hisi? C. 9990 D. 9960

il 19. Chagua sentensi iliyo sanifu.

B., A. Madawa ya kulevya hayafai.

c.! B. Madawa ya kulevya hazifai.

C. Dawa ya kulevya haifai.

D.? D. Dawa la kulevya halifai.
17. Kipi si kiungo cha ndani ya mwili? B = e mis 5 .

A Pafu A. vyombo vya kup_lk.la

B. Ini B. chumba cha kupikia N

C. Figo &5 pawashwapo moto wa kupikia

D thi D. mtu apikaye.
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SCIENCE

7

SOLUTION TRIAL EXAMS

Standard Igive

Time : 1 hour 40 minutes

When a person takes more drugs than
prescribed by the doctor it is referred to as:-
A. overdose

B. normal dose

C. level dose

D. under dose

The exchange of gases during breathing
process takes place in the:-

A. bronchi

B. air sacs

C. trachea

D. bronchioles

Which of the following phases of the moon
1s invisible?

Where does digestion of food starts?
A. Stomach

B. Oesophagus

C. Tongue

D. Mouth

Water is NOT stored in:-
A. dams

B. taps

C. tanks

D. drums

The air we breathe in is normally cleaned in
the:-

A. windpipe

B. air sacs

C. nose

D. lungs

L

10.

14

Which one of the following is the correct

statement about first stage of HIV infection?

A. The infected person has signs of the
disease.

B. Infected person look weak and cannot
tight other diseases

C. The infected person looks normal and
healthy but infected

D. The person cannot infect others

The tooth problem illustrated below is
called:-

A. bleeding gums
B. bad breath

C. tooth cavity
D. tooth decay

Which one of the following chemicals is used
by the farmers to kill weeds?

A. Insecticides B. Pesticides

C. Herbicides D. Antiseptics

The process through which blood is
transferred from one person to another in a
hospital is called:-
A. blood transfusion
C. blood exchange

B. blood donation
D. blood tlow

HIV is transmitted from an infected person to
a healthy person mainly through the
following body fluids. Which one

CANNOT?
A. Breast milk B. Urine
C. Saliva D. Blood

. The experts in science who study weather are

called:-
A. archeologist
C. forecaster

B. meteorology
D. meteorologists
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MATHS

Which one of the following numbers is, six
hundred thousand and sixty six?

A. 600606 B. 666000

C. 6000066 D. 600066

What is the total value of digit 2 in the
number 82567

A. 200 B. 20

Cc2 D. 2000
Which one of the following numbers is
divisible by 9?

A.2299 B. 1188

C. 2398 D. 90164

Work out the perimeter of the figure below:-

1 1 36 cm
A. 72 cm B.12cm
C. 144 cm D. 1296 cm
What is the LCM of 16, 48 and 24?
A. 48 B. 12
C.96 D. 16

Mzee Ole Santole had 808 sheep. If he
shared them equally among his 8 sons, how
many sheep did each son get?

A. 202 Brill

C. 1001 D. 101

A casual labourer is paid shs. 350 for every
piece ot work he does in one day. How
much money did he receive in a month in
which he worked for 27 days ?

A. shs. 10850 B. shs. 9800

C. shs. 9450 D. shs. 9100

SOLUTION TRIAL EXAMS

8.

10.

11.

12.

13:

Standard Five

Time : 2 hours

What is the number that comes just before
90009C?

A. 900089
C. 900099

B. 999089
D. 899999

Work out 8 - %

A6
9

"
C.89

Which one of the following shapes is a
triangle?

A B /4\

4
ng

What is the next multiple of 12 after 108?
A. 118 B. 132
C. 120 D. 114

Work out :-

1-0.99=
A. 0.98
B. 0.01
C.0.10
DP9

A village meeting was attended by five
hundred and three people. It the number of
women was two hundred and sixteen, how
many men attended the meeting?

A.313

B. 287

C. 297

D..298
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Write an interesting story on title given below.

OUR SCHOOL SPORTS DAY
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JAWABU LA MAJARIBIO

Darasa la Tano
003
KISWAHILI

SEHEMU YA PILI -
INSHA Muda: Dakika 40

Andika Insha kuhusu;
MWALIMU WANGU WA HISABATI
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